
PAGE 1 OF 2WWW.DEXTERGROUP.COM/PRODUCTBULLETINS

December 19, 2024 

Dexter is discontinuing the G5 Disc Brake product offering and replacing it with the Kodiak® by Dexter disc brake system.  The G5 
disc brakes utilize a non-vented disc brake design, while the Kodiak system uses a vented disc brake design, which provides superior 
heat dissipation and enhances overall braking performance.  Please be aware that the G5 and Kodiak disc brake components are 
incompatible and cannot be interchanged between the two brake systems. 

This change is effective immediately.

G5 DISC BRAKE COMPONENTS BEING DISCONTINUED:

PART NUMBER DESCRIPTION

008-46911X HUB-ROTOR ASSEMBLY, 1,750 LBS.  

008-46914X HUB-ROTOR ASSEMBLY, 3,000 LBS. 

008-46914XA HUB-ROTOR ASSEMBLY, 3,000 LBS.  

070-46911-2 ROTOR 9.6” STAINLESS STEEL 

070-46914-2 ROTOR 12” STAINLESS STEEL 

071-81117 G5 DISC BRAKE KIT, 10” STAINLESS STEEL 

071-81118 G5 DISC BRAKE KIT, 12” STAINLESS STEEL 

090-44687GA CALIPER MOUNTING BRACKET G5 10” 

090-44687X CALIPER MOUNTING BRACKET G5 10” 

090-70518XA CALIPER MOUNTING BRACKET G5 12” 

K71-81114 BRAKE PAD KIT, G5  

K71-G00-42 DISC BRAKE KIT, 10” G5 

K71-G00-43 DISC BRAKE KIT, 12” G5 

K71-G01-12 HUB-ROTOR KIT, G5 1,750 LBS. 

K71-G02-56 DISC BRAKE AND ACTUATOR KIT, G5, 10” DISC BRAKES & DX6.6 ACTUATOR 

K71-G02-65 BRAKE PAD KIT, G5 

K89-506-03 CALIPER ASSEMBLY KIT, LH, G5 

K89-506-04 CALIPER ASSEMBLY KIT, RH, G5 

PRODUCT BULLETIN #509 

OBSOLESCENCE OF G5 DISC BRAKES



PAGE 2 OF 2WWW.DEXTERGROUP.COM/PRODUCTBULLETINS

Below are the suggested Kodiak replacement kits:

K71-1RHG-10-SSS STAINLESS STEEL DISC BRAKE KIT W/ GALVANIZED IDLER HUB FOR 3.5K-3.7K AXLES

QTY. PART NUMBER DESCRIPTION

5 006-080-00 CONE NUT, 1/2" 

4 006-CMB-10-LOCKNUT NYLON LOCK-NUT, 7/16-20 

4 007-CMB-10-BOLT BOLT 7/16-20 X 1-1/4 

1 008-562-03 HUB, IDLER, 3.7K 545, CUPS  & STUDS, GALVANIZED 

1 010-019-00 GREASE SEAL, 1.72 ID X 2.56 OD 

1 021-003-00 GREASE CAP, 1.98” 

1 031-031-02 BEARING CONE L44649 

1 031-033-02 BEARING CONE L68149 

1 059-Z15-00 INSTRUCTION SHEET 

1 070-RTR-10-SS ROTOR 3.5K-4.2K 10", STAINLESS STEEL 

1 090-CMB-10-U-SS CALIPER MOUNTING BRACKET, 3.5K-4.2K, STAINLESS STEEL 

1 K71-DBC-225-SS CALIPER KIT, 3.5K-6K STAINLESS STEEL 

K71-1RHG-12-SSS STAINLESS STEEL DISC BRAKE KIT W/ GALVANIZED IDLER HUB FOR 6K AXLES 

QTY. PART NUMBER DESCRIPTION

6 006-080-00 CONE NUT, 1/2" 

5 006-CMB-10-LOCKNUT NYLON LOCK-NUT, 3/8-24 

5 007-372-00 BOLT 3/8-24 X 1” 

1 008-655-04 HUB, IDLER, 6K, 655 CUPS  & STUDS, GALVANIZED 

1 010-036-00 GREASE SEAL,  

1 021-001-00 GREASE CAP, 2.44” 

1 031-029-02 BEARING CONE 15123 

1 031-030-02 BEARING CONE 25580 

1 059-Z15-00 INSTRUCTION SHEET 

1 070-RTR-12-SS ROTOR 6K 12", STAINLESS STEEL 

1 090-CMB-12-U-SS CALIPER MOUNTING BRACKET, 6K, STAINLESS STEEL 

1 K71-DBC-225-SS CALIPER KIT, 3.5K-6K STAINLESS STEEL 

Please contact your Dexter account manager for additional information and further assistance.

Jay Klinkerman
Product Manager


